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ML ST B 1,420 0 0 0 28,400 | 3,960 0 0 0 0 0 0 33780.00
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AL 4H 5H 6 H TH 8 H 9H 10H 11H 12H 14 2H 3H
- 5/9 5/23 6/6 7/4 8/1 9/5 10/3 | 11/7 | 12/5 1/9 2/6 3/6
= 5/24 | 6/10 7/1 8/1 9/9 10/4 | 10729 | 11/29 | 1/6 1/20 3/3 3/31
mS/m 2.6 2.4 2.4 2.0 2.8 3.3 3.3 3.0 2.7 4.1 5.5 2.3
HAL A4 - mg/0 0.9 0.8 0.7 0.8 0.8 0.7 1.0 0.7 0.7 3.3 8.0 0.9
| IECEZ f@‘l\ﬁk(‘F%) ]
TAEE H TEE | B [ 4N 58 61 7H 8H 9K 100 | 117 | 128 A 28 3H
BRI = = 5/9 5/23 6/6 7/4 8/1 9/5 10/3 | 11/7 | 12/5 1/9 2/6 3/6
i H = = 5/24 | 6/10 7/1 8/1 9/9 10/4 | 10/29 | 11/29 1/6 1/20 3/3 3/31
RS = mS/m 2.6 2.6 2.1 2.3 2.8 3.2 3.2 3.0 2.9 1.2 5.6 2.3
w4 - mg/0 0.9 0.8 0.7 0.9 0.9 0.7 0.9 0.7 0.7 1.4 7.9 0.7
AL = = = = = = = = 10/3 = = = =
A - - - - - - - - 10/29 = = = =
HRIT L 0.01 mg/ 0 - - - - - - |<o0.0003] - - - - -
BT witsiaoze] mg/0 - - - - - - <0.1 - - - -
& 0.01 mg/0 - - - - - - <0.005 - - - - -
A Y v 0.05 mg/0 - - - - - - <0.01 - - - -
LSk 0.01 mg/0 - - - - - - <0.005 - - - - -
KR 0.0005 mg/0 - - - - - - |<0.0005] - - - -
TIVE L KGR mitEnsoze mg/0 - - - - - - <0.0005 - - - - -
sanxzFlLs 0.002 mg/0 - - - - - - |<0.0002] - - - -
RV e 7 ==/L(PCB) wtsnzoce] mg/0 - - - - - - ]<o0.0005] - - - - -
Draniy 0.02 mg/0 - - - - - - <0.002 - - - -
(RS 0.002 mg/0 - - - - - - <0.0002 - - - - -
1,2-Y/unxi 0.004 mg/0 - - - - - - |<0.0004] - - - -
,I-v/unzgL 0.1 mg/0 - - - - - - <0.002 - - - - -
1,2-V7unTF L 0.04 mg/0 - - - - - - <0.004 - - - -
1,1,1-N7anx 1 mg/ 0 - - - - - - ]<o0.0005] - - - - -
1,1,2-N)/anxx 0.006 mg/0 - - - - - - |<0.0006] - - - -
N2 0.03 mg/0 - - - - - - <0.002 - - - - -
Fhy/unTFL v 0.01 mg/0 - - - - - - |<0.0005] - - - -
1,3-Y7unra~2 0.002 mg/0 - - - - - - |<o.0002] - - - - -
1,4-F % 0.5 mg/0 - - - - - - <0.005 - - - -
Py 0.01 mg/0 - - - - - - <0.001 - - - -
FITh 0.006 mg/0 - - - - - - |<o0.0006] - - - - -
T~ 0.003 mg/0 - - - - - - |<0.0003] - - - -
FARHNT 0.02 mg/0 - - - - - - <0.002 - - - - -
L 0.01 mg/0 - - - - - - <0.002 - - - -
EE 8 mg/0 - - - - - - <0.2 - - - - -
ESES 10 mg/ 0 - - - - - - <0.2 - - - - -
TvE=T . TVESYMEE Y, T 120 me/0 _ _ _ _ _ _ 1.0 _ _ _ _
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